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Getting in:

o It gives me great pride and pleasure in bringing to you, this wonderful
booklet.

e The compulsory questions are collected from almost all the available
previous years’ question papers, which will give an idea about to study
the topics which will help them to tackle these compulsory questions.

-SS PRITHVI, FOUNDER- PRIT~EDUCATION.

Calculate the momentum of two bodies move with same speed 10ms™' with masses
respectively.

Give the significant figures for the following.
i) 600800 ii) 400 iii) 5213.0 iv)0.007 v)0.006032 vi) 18.032

Check the correctness of the equation %m\!’ =mghusing dimensional
analysis method.

In the cricket game, a batsman strikes the ball such that it moves with the
speed 30ms™ at an angle 30° with the horizontal. The boundary line of the
cricket ground is located at a distance of 75m from the batsman? Wiil the
ball go for a six? (Neglect the air resistance and take g'= 10 ms™2)

An iron ball is falling from a height of 10m. Find the time taken by the iror
bali to reach the ground.

A train was moving at the rate of 54 km h™!, when brakes were applied.
It comes to rest within a distance of 225m. Calculate the retardation produced

in the train.
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Froma point on the ground, the top of a tree Is seen to have an angle of elevation

60° .The distance between the tree and a point Is 50m,
Calculate the helght of the tree?

An Iron ball and a feather are both falling from a height of 10m.
a) What are the time taken by the iron ball and feather to reach the ground?

b) What are the velocities of iron ball and feather when they reach the ground?
(lgnore alr resistance and taken g = 10 mS*2,)

Two vectors are given as ¢ 2.,3,,5; and F . 3§ 2+ 4k Find the resultant vector ¢ = r xF

A train was moving at the rate of 54 kmh ' whén brake were applied It came to rest within a distance of
225m. Calculate the retardation produced in the train.

Two resistance R 1 -'( 1003;-3)-0, I-lnz-; ( 1;0:;3 fx' a?é"é&'&k&ﬁ'uﬁ' ;:r'i;vw“:;tl ;s their
equivalent resistance?

1
Aphywdqummgwmby!= :_b)_ If the percentage emrors of measurementina b cand d
cvd

are 4% 2%, 3% and 1% respectively Then calculate the percentage error in the calculation of x

What tsthe angle of projection 1o have a maximum range in ‘kitti pull'? If one strikes kitti pull with of
98ms™' whal is the maximum range achieved?

A box is pulled with a force of 25 N to produce a displacement of 15m. Ifthe angle between the force and
displacement is 30°, find the work done by the force?

Water in a buckel tied with rope whirled around in a vertical circle of radius 0.5 m. Calculale the

minimum velocity al the lowest point so thal the water does no spill form it in the course of motiion.
(g =10ms~)

The posilion vectors of two point masses 10kg and Skgare (37,2 [+ 4k) and (346 [ 5k) M
respeclively. Locale the position of cenler mass.
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mmammhmunhimmaﬁvvfmhuudhrﬂhnurnddlyl’ormmnntl‘n
(30 days) (3. Féhg:m 19]

Cailculate the work done by a force of 30N in lifting a load of 2kg to a height of 10m. (g = 10 ms?)

Check dimensionally S=ut+}4at?

Calculate the energy consumed in electrical units when a 75 W fan is used for 8 hours
daily for one month. (30 days) Part-IV

TTTTTWmS WWERTRSe AFIN. RAR RN

Calculate Ccnmpctal force of a man of m

ass 60kg is moving with velocit
50 ms~! in circular path of 10m radius, ’

Calculate the acceleratio_r; Bf-a' BB& s 20 k
yotmassZOk actedbyaf
angle of 30 in x, y direction as shown in figure. . e

Y

50N
30°

An iron ball and a feather are both falling from a hjig £ of 10m, what are the
time taken by the iron ball and feather to reaches the ground? (Let g = 10ms™2)

Find out the equation for
= ("k\ 5k)N and 7 = (71 + 4] - 2k)M Find out the equation for # F=FxF

A book of mass ‘'m’ is at rest on the @) What are the forces acting on the book?
b) Draw the free body diagram. o N

The resultant of two vectors A and B is perpendicular to vector A and its magnitude is equal tc
half of the magnitude of vector B. The angle between A and B is.

Define torque. Give any two examples of torque in day - to- day life.
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Check the correctness of the equation E = mc? using dimensional analysis method.

A cyclist while negotiating a circular path with speed 20 m st is found to bend an
angle by 30° with vertical. What is the radius of the circular path?
(given, g = 10 ms2)

A train was moving at the rate of 54 km h- when brakes were applied. It came to rest
within a distance of 225m. Calculate the retardation produced in the time.

A cyclist while negotiating a circular path with speed 20 ms is found to bend

an angle by 300 with vertical. What is the radius of the circular path?
(Given g= 10 ms)

WV o ——— n with intal Speed 10 ms ' at an angle n/4 with the

An object is thro
horizontal. What is the rand€ covereq?

A uniform disc of mass 100g has a diameter of 10 cm. Calculate the total energy of the disc when
rolling along a horizontal table with a velocity of 20 cms'.

An athlete covers 3 rounds on.a circular track of radius 50 m. Calculate the total-
distance and displacement, travelled by him.

A rolling wheel has velocity of its center of mass as 5 m s2, If its radius is 1.5 m and
angular velocity is 3 rad s~1, then check whether it is In pure rolling or not.

Consider a circular road of radius 20 meter banked at an angle of 30 degree. With what speed a car bas to move on
the turn 50 that it will have safe tum? (Consider g=10 ms™)
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A physical quantity x is given by ¥ -:—:%,-flfdr;;ercamgeamofminl. b, c and d are 4%, 2%, 3%
and 1% respectively, then calculate the percentage eror in the calculation of x. ' vy

If a stone of mass 0.25 kg tried to a string executes uniform circular motion with a speed
of 2 ms-1 of radius 3 m. What is the magnitude of tensional force acting on the stone?

In a submarine equipped with senar, the Ume delay Lelween Lhe generation of a pulse and
its echo after reflection from an enemy submarine is observed to be 80 s. If the speed of
sound in water is 1460 ms*. What is the distance of the enemy submarine?

A RADAR signal i1s beamed towards a planet and Its echo is received 7 minutes

later. If the distance between the planet and the Earth is 6.3 X109 m. Calculate
the speed of the signal?

A particle of mass 2kg experiences two forces, Fy =Si+8)+7k, Fp =3l 4)+ 3k.
What is the acceleration of the particle?

Amhmdum-mmdmsmumwm“btnnmm
of the cylinder if the rope is pulled with & force 20 N?

Astone of mass 2 kg is attached (o a stning of length 1 meler The sinng can withstand maximum lension
200 N. Whal is the maximum speed thal stone can have dunng the whirkng motion?

Find the moment of inertia of a dire of mass 4 kg and radius 60 cm

about an axis paring lhr;Jugh the center and perpendicular to the plaru
of the disc.

.Consider a satellite orbiting the Earth in a circular orbit of radius
1600 km above the surface of the earth. What is the acceleration
experienced by the satellite due to Earth’s gravitational force.
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The reading of pressure meter attached with a closed pipe isS
« 105 Nm-2. On opening the valve of the pipe, the reading of
the pressure meter is 4.5 x 10° Nm=2. Calculate the speed of
the water flowing in the pipe.

If 5L of water at 50°C is mixed with 4L of water at 30°C, what
wili be the final temperature of water? Take the specific heat
capacity of water as 4184 J kg k™",

Comidertv;oponn\mm,-ﬂm,m-'wwum
dtom.cmumdmmm.nnm,ﬂm

and m,=2 kg.

- .

Two pistons of hydraulic lift have diameters of 60cm and Scm. VWhat s the
force exerted by the large piston when SONis placed on the smaller piston?

A metal plate of area 2.5x10~% m? is placed on a 0.25x10~3 m thick layer of castor
oil. If a force of 2.5 N is needed to move the plate with a velocity
3x10~2 m s™L calculate the coefficient of viscosity of castor oil;

A football at 27°C has 0.5 mole of air molecules. Calculate the internal energy of air in
the ball. (R=8.311 mol"} k1 ) .

A refrigerator has COP of 3. How much work must be supplied to the refrigerator in -
order to remove 200 J of heat from its interion? (COP - Coefficient Of Performance) -

During the cyclic process, a heat engine absorbs 500 J of heat from a hot reservoir,
does work and ejects an amount of heat 300 Jinto the surroundings (cold reservoir).
Calculate the efficiency of the heat engine.
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A solid sphere has a radius of 1.5 cm and a mass of 0.038 kg. Cal
specific gravity or relative density of the sphere.

culale the

A wire 10m long has a cross-sectional area 1.25 x 104 m? It is subjected to a load of
5 kg. If Young's modulus of maternial is 4 x 10'9 Nm-2, calculate the elongation produced
in the wire. Take g = 10 ms™2

Calculate the energy of the (i) Moon orbiting the earth and (ii) Earth orbiting the sun
(Given : Mg = 6.02 x 10%* kg, M, = 7.35 x 10?2 kg, R, = 3.84 x 105 km,
G=6.67 x 107" Nm?Kg—2.

Define Poisson’s ratio.

A wire of length 2m with the area of cross - section 10*m" is used to suspend a load of
980 N. Calculate i) the stress developed in the wire ii) the strain and i) the energy
stored.

(Given Y = 12 x 10"Nm*))

An unknown planet orbits the sun with distarice twice the semi majof axis distance
of the Earth’s orbit. If the Earth's time pngd is T,, what ie the lime period of this
unknown planet? 3

Two phtom;:l;hydmulc lit have diameters of 60 cm and 5cm. What is the force exerted by the
larger piston when 50 N is placed on the smaller piston 7

A cyclist while negotiating a cfrcular path with speed 20 mS1 is found to bend an angle by 30°
with vertical. What is the radius of the circular path? (given g = 10mS-2)

Suppose we go 200 km above and below the surface of the Earth, what are the g values at these
two points? In which case, is the value of g small?
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A object Is thrown with initial speed Sms-' with an angle of projection 30°. What is the height reached
by the particle? ' '

“The foros B0 N i acting on (he mass 20 kg as shown in the dagram  Find the accaleration of the object
slong x and y diraction

" SON

n

L
- ~

T T W i

A . “

Tan.. s

- s

If the length of the simple pé;ldulum Is increased by 44% from

'its original
Calculate the percentage increase in time period of the pendu AR

lum.

Calculate the energy consumed In electrical units when-a 75w fan Is useq for 8
hour; daily for one month. (30 days) v 1

¢

‘During a cyclic process, a heat engine-absorbs 5003 of heat from a hot reservoir,
does work and ejects an amount of heat 300) Into the surroundings (cold
reservoir). Calculate'the efficlency of the heat engine.

If the position vector of the particle is given by F = 3t2i + 5tj+ 4x, find i1
velocity of the particle at t = 3s.

- ——— T T

Jogging every day is gro;)d for he;nh. Assume that w
500 KJ) is done and 230 K) of heat is

energy of your body?

_ hen you jog a work of
given off. What is the change In internal
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Caiculate the energy consumed in electrical units when a 75W fan Is used for B hours daily for
one month (30 days).

A cannot engine whose efficiency Is'45% takes heat from a source maintained at a temperature

of 3270C, To have an engine of efficiency 60% what must be the intake temperature for the
same exhaust (Sink) Temperature?

In a honzongal pipe of nor, umJorm cross section, l«ar‘r Ho‘a with 3
velocity of \ ms ' when the diameror of the pipe i§ 20 cm. The velocity of
water's 1.5'mg !, find the dbmv:w of the pipe “

;';-th'!‘;‘if at an angle séch that the horizontal rénge 4 Lime: of the
max:mum height. What is the ang/@ofporjectionef the object

Check whether the following vectors are orthogonal. A = zi +3j, B = 4j - s'j

During a cyclic procass a heat«nrgine absorbs 500 J'of heat from a fiot reservoir.
Does work and eiects an amount of heat 300 J into surroundings (cold reservoir).
Calculate the efficiency of the heat engine.

. T W I‘Pv;c:

Ca'culate the energy consumed in electrical un
al units when a 75w
used for 8 hours daily for one month (30 days). S

TTT T Twrrwwmiwrn rwr YwOwWwILY W SUUIIU WAves I ar.,

Consider a circular leveled road of radius 10m having coefficient
of static
friction 0.81. Three cars (A, B and C) are travelling with speed 7 ms!, 8

ms™, 10 ms! respectively. Which car will skid when it
circular level road? (g = 10 ms?) moves in the

Check whether the folloawing Weaee= == AN G o nd
5 |

S TV [ I T,

y :f Y and M di
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It excess pressure 1s balanced by a column of oil (with specific gravity 0 B 4 mm figh. whare
R =20 cm find the surface tension of the soap bubble ; oy

A_budf eiecutmg SHM, has velocity 4.4 ms ' and amplitude 7 mm, calculate
its time period of oscillation.

Pressure gauge'attached to a tube closed with lid shows 5x10% Nm~<. When
the lid is opened, the pressure gauge shows 4.5x10° Nm-2. Calculate the

velocity of flow of water.

If the length of the simple pendulum is increased by 44% from its original length, calculate the
percentage increase in time period of the pendulum. . =4 -

A A A . A A A
. Afarce of (4 i-3j+5k ] N is applied at paint whose position vector is (7’ +4 -2k ) M | Find the torque

of force about the origin.

hn'nbject_ at an angle such that the horizontal range is 4 times of the
maximum height? What is the angle of projection of the object? — ~

If excess pressure is balanced by a ¢olumn of oil (with specific gravity 0.8)
4mm high, where R = 2.0 cm. Find the surface tension of the soap bubble.

vA—met'al:'pl—ate—of ar;aa 2.5:10;4 m2 is placed on a 0.25 x10-3 m thick layer of castor oil. If 2
force of 2.5 N is needed to move the plate with a velocity 3x10-2 m s-1, calculate the
coefficient of viscosity of castor oil. ; .. sce N

SIAIE NEWION 5 UITTE WD G11U UIDUUID W ITIF WIge i rees pwes , —
Calculate the work done by a force of 30 N in lifting a load of 2kg to a height of 10 m. (g=10

ms-2) )

T

Two streamlines cannot cross each other. Why?

Draw the PV dja 2% for a) Isothermal process  b) Adiabaticp

i il s i Fanmnns B
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longitudinal waves. . ) o of
i:.tr]uat;:}i:lsguf masses 2 kg and 4 kg are moving with the same mo
2k e kinetic energy?
(i) Will they have sama kin Pa'rt i

- o kam

- During a cyclic p}oce'sé, a heat engine abords 500J of heat form a hot reservoir, does

wark and ejects an amount of heat 300J into the surroundings (Cold reservoir). Calculate
the efficiency of the heat engine?

- L ——

A train was moving at the rate of 54Kmh? when brakes were applied. It came to rest
within a distance of 225m. Calculate the retardation produced in the train.

A refrigerator has cop of 3. How much work must be supplied to the refr .
order to remove 200 J of heat from its interion? b

The resultant of two vectors A and B is perpendicular to vector A and its magnitude is
equal to half of the magnitude of vector B. Find the angle between A and B.

A car takes your turn with velocity 50 m/s on the circular road of radius of curvature 10 m.

Calculate the centrifugal force experienced by a person a mass 60 kg inside the car?

The radius of the circle 3.12 m. Calculate the area of the circle with regard to signature
Figure.

A = 21+3] then find 3A

The following two forces act on an object of mass 2 kg. Find acceleration of
object F1 = 5i+8)-+7kand F2 = 3i-4j+3K. 2, _ . .. .

kindly send me your key answer to our email id - Padasalai.net@gmail.com of 2.
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A particle moves along the X - axis in such a way that its co-ordinates X
varies with time 't' according to equation x = 2 - 5t + 6t2, What is the initial
velocity of the particle?

A ball with a ';éloclty of-grﬁ;?;i}nclined at angle of 60" with the vertical on a
smooth horizontal plane. If the coefficient of restitution is 0.5. Find the
velocity and direction after the impact.

A train was moving at the rate of 54 km h-' when brakes were applied It came to
rest within a distance of 225 m Calculate the retardation producad in the train.

g e

Calculate the amplitude, angutar frequency frequency, time penod and initial
phase for the simple harmonic oscillaban Y = 0.3 sin {40zt + 1.1)

| & P "ne

Dl PEIPENUGUIEH SAR UITUISH. A _— . .
Two vectors are given as t = 2i + 3) + Bk andF ;é‘l Zj + 4k_ Find the resultant veclor T = Fx F.
PART - 111

If a clarinet sounds with the frequency 450 HZ. Whal'are the frequencies of the secona, tira ana juurus
harmonics of this pitch. _‘__‘ »

Convert the ?ECIEI‘,;T: =3i+2 _; into a unit veclor,

A particular of mass 2kg experiences Lwo forces 7‘] -5/ = 8j+ 7k and F- =3i- -‘._} + 3k . Whatis the

acceleration of the parlicle?
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i f cross

A wire of length 2Zm with the area © - " -’
) suspend a load GBON. Calculate (i) Strain (ii) energy stored. Given y=12x10" NrT?,

et 1

section 10°m? is used to

| Staté and explain law of Equipartition of Energy.

I. When walking on ice one should take short steps. Why?

et el LRE Sl LR LR E R R dh TR BN L I

. Differentiate sliding and slipping.

Proove moon has not atmosphere on the units of kinetic theory of gases
(Here k= 1.38 x 107 JK-', T = 273 K)

Awater foundation on the ground sprinkles water all around il. If the speed of the water coming out of
the foundalion is v, Calculate lhe lolal area around the founation that gets wet

Check whether the following vectors are erthogonal,
() "A'=2i+3j and B'= 47 = 5j

FimFlrmms Arms bkl o - i

) €=5i+2j and D=2 -5j

—— o TrTe T WP WTMILILIL Y

Mércury has an ériglé'éf contact equal to 1409 with soda lime

_ t glass. A narrow tube
of radius 2mm, made of this glass is dipped in a trough containing Mercury, By
what amount does the mercury dip down in the tube relative to be liquid surface
outside? Surface tension of Mercury T = 0.456 Nm"! ’

Density of Mercury P = 13.6 x 103 Kgm™3"

.During 2 -wd'c pracess, a heat mgim'ébsori:s 500 J of heat from 8 hat resenvoir, does wark and ejects
an amount of heat 300 J into the surouning (cold resenvair) Cakcutate the efficiency of the heat engine?

An objed is thrown wilh (nilal speed 5 me? with an angle of projectian a0, WI:ml & the height an}!
range reached by the parlicle?

State Newton's Universal law of gravitation,
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13 SS PRITHVI PRIT-EDUCATION



t.me/PRITEDUCATIONS
t.me/PRITEDUCATIONS
t.me/PRITEDUCATIONS
t.me/PRITEDUCATIONS
https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

11th PHYSICS COMPULC§OIRY PYQ'’S SS PRITHVI m
www.Padasalal.Net. www.Trb Tnpsc.com of 2.

A bot water cools [rom 92°C to 84 € in 3 minutes when the rovm temperature is 27°C.,
How long will it take for it to cool from 65°C 1o 60°C ?

Dunnga cvcln: ;;moess aheaterng absorbs 5007 of heat from a hat reservoir, does work
and ejects an amount of heat 3000 Into the surrounding (cold reservoir) calculate the
efficiency of the heat engine?

An object is thrown with Initial speed 5ms with an angle of projeclion 307 What I1s the
height and range reached by the particie?

Tm o r 1 waI LILRELIL]

Let the two s;r‘i-ngs Aand B be such that k,>k,. On which spring will m
/0 ; ore work has to
be done if they are stretched by the same force? PR

WA b G b o

Two point masses 3 kg and 5 kg are at4 m and 8 m from the origin on X-axis. Locate
the position of centre of mass of the two point masses from the origin.

A Nurse mea'sured the average heart beatsof a patient and reported to the doctor in terms of time

period as 0.8 second. Express the heart beat of the patient in terms of number of beats measured
per minute.

Suppose we go 200 Km above and below the surface of the earth, What are the ‘g’ values at these
two points ? In which case, is the value of ‘g’ small ?

B ST T

Suppose we go 200 Km above and below the surface of the earth, What are the ‘g’ values
at these two points ? In which case, is the value of ‘g’ small ?

— e e e e TAWEY e T wEW WTWg W om o — - —

Calculate the amplitude, angular frequency, frequency a.nd time period for
the simple harmonic oscillation y=0.3 sin(40nt + 1.1)
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Mercury has an anale of contact equal to 140° with soda lime glass. A narrow tube
of radius 2 mm, made of this glass is dipped in a trough containing mercury. By what
amount does the mercury dip down in the tube relative to the liquid surface outside?
Surface tension of mercury T=0.456 Nm-!. Density of mercury p = 13.6 x 10°kgm ™

Write the rules for determining significant figures.

Consider two organ pipes of same length in which one organ pipe is closed and another
organ pipe is open. If the fundamental frequency of closed pipe is 250 Hz. Calculate the

fundamental frequency of the open pipe.

A refrigerator has cop of 3. How much work must be sup

plied to the : ~
order to remove 200 J of heat from its interion? refrige

The resultant of two vectors A and B is perpendicular to vector A and its magnitude is
equal to half of the magnitude of vector B. Find the angle between A and B.

A RADAR signal is beamed towards a planet and its echo is received 7 minutes

later. If the distance between the planet and the Earth/is 6.3 % 1010 m. Calculate
the speed of the signal?

During a cyclic process, a heat engine absorbs 500 J or neat rrom a hot
reservior, does work and ejects an amount of heat 300 ] into the surrounding

(cold reservoir). Calculate the efficiency of heat Engine.

If a stone of mass 0.25kg tied to a string executes uniform circular motion with a speed of 2 m s of
radius 3m, what is the magnitude of tensional force acting on the stone? ;

. A wire 10 m long has a cross-sectional area 1.25 x 107 m’, It is subjected to a load of 5 kg. If Young's
modulus of the material is 4 x 10'° N m™, calculate the elongation produced in the wire.
Take g = 10 ms™, :
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PUBLIC EXAM COMPULSORY QUESTIONS

Consider a lamp (with hoider) of mass 50 g (shown in the figure) Draw free body diagram and
compute the tension in the string. (assume lamp with holder as a point mass)

Consider a system of two identical particles having mass m. If one of the particles of mass m Is
pushed towards the center of mass of the particles through a distance x, by what amount the
other particle should move so as to keep the center of mass of particles at the original position?

. The speed of a wave in'a cerlain medium 1§ 900 mv/s. If 3000 waves passes over a certain point

of the medium in 2 minutes, the compute its wavelength.

An unknown planet orbits the sun with distance twice the semi major axis distance of the
Earth’s orbit. If the Earth’s time period is T, what is the time period of this unknown planet?

\—Nhnt lﬂho angle of projection lo have a maximum range in kitti pull'? If one strikes kitti pull with of
98ms-' what is the maximum range achieved?

A box is pulled with a force of 25 N to produce a displacement of 15m. If the angle between the force and
displacement is 30°, find the work done by the force?
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Tmmm e mms e wwraveey s mygewm v s g

Waler ina buckel tied with rope whirled around in a vertical circle of radius 0.5 m. Calculate the
minimum velocity at the lowest point so that the water does no spill form it in the course of motiion.

(g =10ms )

- -—-J- - -——, mmwmra

y—— e — - - - —"——'l"'—"'_"l""""-"'l'--'"

Thu puslllun vectors nftwnpunlmasses 10kg and 5 kg are (_3 |+2]+4h] and i:‘-i* 6 l i 5k:| m
respeclively. Locale the position of cenler mass.

Calculate the work done by a force of 30N in lifting a load of 2kg toa height
of 10m (g = 10ms™2).

The position vectors of two point masses 10 kg and 5 kg are (3i + 2j + 4k)m,
and (3? +6j +5k)m respectively. Locate the position of center of mass.

Two pistons of a h§draulic lift have diameters of 60 cm and 5cm. What is the force exerted by the
larger piston when 50 N is placed on the smaller piston 7

The surface tension of a soap solution is 0.03 Nm-1. How much work is done In producing

soap bubble of radius 0.05 m?

Two waves of wavelength 99 cm and 100 cm both travelling with the velocity of 396 ms-1
are made to interfere. Calculate the number of beats produced by them per sec.

A SHM,
puﬂ:-m&g w-dhphnmamﬂhid-mplitudrhmmd.

A child is playing on a sliding board. If he is sliding down :
(a) Mention the forces acting on the child.

(®) Draw FBD (Free Body Diagram).

(c) Write the force equation.
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if the length of the simpie pendulum is increased by 44% from its original length, caiculate
the percentage increase in time period of the pendulum.

A force of (4i — 3j + SR N is applied at a point whose position vector is (7i + 4f — Zim.
Find the torque of force about the origin.

Caiculate the energy consumed in electrical units when a 75 W fan is used for 8 hours
daily for one month (30 days).

If excess pressure is balanced by a column of oil with specific gravity 0.8, 4 mm high,
where R=2.0 cm, find the surface tension of the soap bubble.

A particie moves along the x-axis in such a way that its coordinates x varies with
time 't' according to equation x=2-5t+6t?. What is the initial velocity of the particie?

A person docs 30 ki work on 2 kg of water by stimring using a paddie wheel. While
stirring, around 5 kcal of heat is released from water through its container to the
surface and surroundings by thermal conduction and radiation. What is the
change in internal energy of the system?

Consider two trains A and B moving along parallel tracks with same velocity in the ame
direction. Let the velocity of each train be 50 km / hr due east. Calculate the relative

velocities of the trains.

During a cyclic process, a heat engine absorbs 500 J of heat from a hot reservoir, does
work and ejects an amount of heat 300 J into the surroundings (cold reservoir).
Calculate the efficiency of the heat engine

Two objects of masses 3 kg and 6 kg are moving with the same momentum of
30 kgms ~!. Will they have same kinetic energy ?
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During a cyclxc process, a heat engine absorbs 600 J of heat from a hot reservoir,
does work and ejects an amount of heat 200 J into the surroundings (cold reservoir).
Calculate the efficiency of the heat engine.

A fly wheel rotates with a uniform an;uar acceleration. If
its angular velocity increases from 20x rad/s to 40x rad/s
in 10 seconds, find the number of rotations in that period.

Ten particles are moving at the speed of 2, 3,4, 5. 5, 5, 6,
6, 7 and 9 ms’'. Calculate root mean square speed (V)
and most probable speed (V).

ALL THE BEST !

CLICK FOR MORE MATERIALS

0 -1

kindly send me your key answer to our email id - Padasalai.net@gmail.com of 2.

19 SS PRITHVI PRIT-EDUCATION


https://whatsapp.com/channel/0029VaDuCPB0Qeae8MIiMv1k
t.me/PRITEDUCATIONS
t.me/PRITEDUCATIONS
t.me/PRITEDUCATIONS
t.me/PRITEDUCATIONS
t.me/PRITEDUCATIONS
https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

